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Concepts and Vocabulary

1. Cramer’s Rule uses o solve a system of linear equa- 3. True or False: A 3 by 3 determinant can never equal 0.

tions. 4. True or False: The value of a determinant remains un-
D= a _ changed if any two rows or any two columns are inter-
L ¢ d S changed.

Skill Building

In Probleins 5-14, find the value of each determinant.

= 31 6 1 6 4 8§ -3 =8 =
5, | . f 9.
42 515 2 ]—13 a2 4 2
42 3 4 2 1 3 -2 4 -1 2 3 —9 4
w0 _ - I -1 5 12. |6 1 -5 13. |6 -1 0 4. /11 4 0
-5
1 2 =2 8§ 2 3 1 -3 4 8§ -3 1
4 In Problems 15-42, solve each system of equations using Cramer’s Rule ifitis applicable. If Cramer’s Rule is not applicable, say so.
x+y=28 x+2y=35 Sx— y=13 XY +3y= 5
: : 16. : 17. - 18. :
) { v ¢ {.r - y=3 {2_\- + 3y = 12 {2.\- -3y = -8
3, 3 0 F 0P = =3 a1, 13¥ -6y =24 2, [20 4y =16
2y = —4 Sx +4y =12 Jx —5y=-9
gy T 2y =35 25, 2x —4y =2 2. Jx+3y=3
dxy — 8y =06 3x +2y= 3 4,\‘+2\==§
c3
: + 2
2 sy
—1 28, i\ - 2y=0 39, 2y +3y =6 30, 2
5 Sx + 10y =4 . 1 x—2y= 8
X— y==
2

7= 6 r— y+ z= -4
y+ z=-5 34 2v — 3y + 4z = —15
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¥ {1+ y—2z= 14 S+ p=2z= 12
x+2y— z=-3 x+dy —3z=-8 X=2y+3z=1 X— y+2z= 5§
3, v —dy + 7=-7 36 {3y — y+3z= 12 3. 93x+ y—2z=0 38. Ix+2y= 4
—2x+2y—-3z= 4 v+ oy+6z= 1 2x — 4y + 6z = —2x + 2y —4z=-10
X+2y— z=0 y+4y —3z=0 Xx—2y+3z=0 X—y+2:=0
0 3, 3\—4}'+ z=0 40. < 3x — y 4+ 3:=0 41 3x+ v—=2z=0 42, 3x+2vy =0
% 20+ 2y -3z=40 Y+ v+ 6z=0 2y =4y + 6z =0 —2x+ 2y -4z =0




